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   A．A

   B．B

   C．C

   D．D

标准答案：A

75、题目A9-5（2）（        ）

[image: image75.png]TAERP, E (-0 | LARERHEC
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   A．A

   B．B

   C．C

   D．D

标准答案：A

76、题目A9-6（2）（        ）

[image: image76.png]EHUION (o, )P 0, >0 Bay=1-ays & =9-ay s Magtay= € )
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   A．A

   B．B

   C．C

   D．D

标准答案：B

77、题目A9-7（2）（        ）

[image: image77.png]Bfa=(2)) b= (23)> c = (3.4), Bo= ha+ A6 M. 28ESSHC )
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   A．A

   B．B

   C．C

   D．D

标准答案：D

78、题目A9-8（2）（        ）

[image: image78.png]*amp? = BEESTE Y BLE ) KRCZBRMKIOPE, Uin BERC
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   A．A

   B．B

   C．C

   D．D

标准答案：A

79、题目A9-9（2）（        ）

[image: image79.png]X34 MBRy =-rt——C
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   A．A

   B．B

   C．C

   D．D

标准答案：A

80、题目A9-10（2）（        ）

[image: image80.png]Efire [’%’Uj' cos . lan
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   A．A

   B．B

   C．C

   D．D

标准答案：D
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